PR BKEERE

wm B #

TGRSR RS R T

SF7TE6A

HAEES




£ g B - KT 2 £
EENEE 2,621,928
HRE 1,620,818 x 86.8% — 8,798 1,398,072
AEEER 2,621,928 + 1,398, 072 4,020, 000
BRI 297,340 + 2,972 300, 312
EEAGE 297, 340
EERE 2,972
T O R 297,340 x 53.85% ( 35% + (1 — 35%)) 160,117
EHRIE 300,312 + 160, 117 460, 429
—REBRES 460,429 x 53.85% ( 35% + (1 — 35%) ) — 8,370 239,571
AEREE 460,429 + 239,571 700, 000
AEEHME 4,020,000 + 700, 000 4,720, 000
B EET 4,720,000 x 10.00% 472,000
AEERE 4,720,000 + 472,000 5,192, 000




BEARRE MEEKEERE
2 o K - R B ! i ¢ @ H =
EHIZAEE 2,922,240
KEBRBREER 2,922,240
KEERE 2,922,240
KERE 2,072, 369
B 256, 590
1 RAEEMR 1.00 256, 590 256, 590
E=y
KERAE 1,112,628
2 BAD (—REEHOH) 24.00 16,872 404, 928
5
3 K@ (—HRIER+4£FIRIFIER) 9.00 36, 435 327,915
5
4 ]KkQ (—HRIEHR+£FIRIFIER) 3.00 54,652 163, 956
5
5 HEHERK 1.00 215, 829 215, 829
=
Faiis 566, 610
6 N HrEER 1.00 566, 610 566, 610
=
BER 136, 541
7T MEEER 1.00 136, 541 136, 541
=

BE

a

=

598,

21




BEARRE MEEKEERE
2 o K - R B ! i ¢ @ H =
BERE 434, 500
8 BREHAE 11. 00 39, 500 434, 500
5

BERERREEYEED 163, 771
9 BERABEHRLVYELD 1.00 163, 771 163, 771

E=y
& - | 184, 300
& - | 184, 300
10 EqipE 1.00 107, 300 107, 300

=
11 &ERE 1.00 717,000 717,000

=
EERE 67, 300
BER 19, 000
12 ¥R 1.00 19, 000 19, 000

=
BIRAEE 48, 300
13 ETERERE 1.00 48, 300 48, 300




RER-FET/\vr— BEBKEERE
&5 1
2 REER EE)
2 7 1B - R By B 1 i w = % =
BRI
A 1.50 60, 600. 00 90, 900
I ERET
A 2.00 52, 300. 00 104, 600
B RETE
A 1.00 41, 100. 00 41,100
HEHF
A 0.50 34, 900. 00 17, 450
HHH &%
% 1.00 254, 050. 00 2,540
& H YEZERED 1. 00K 256, 590. 00 256, 590
BE 2
&% : 12k (—REEOH) 1E5Y (14 945)
2 7 1B - IR B B 1 i i % =
XBE 5S4 RN A
H 1.00 3, 595. 00 3,595(2.00H / 8H
REM FRP D 70PS#! 3.0t
H 1.00 82,119.00 82,119|8H
BB AR
A 1.00 52, 300. 00 52, 300
HE RS
A 1.00 41, 100. 00 41,100
MEHF
A 2.00 34, 900. 00 69, 800
HHH SED%
% 1.00 248, 914. 00 2,489
=) 5 1E¥8EH - 14. 90t 5 16, 872. 00 251, 403




RER-FET/\vr— BEBKEERE
&5 :3
2% KO (—RER+EZBEER) 1H4Y (6. 9hH)
2 7 1B - R By 8 B2 1 i w = % =
REE X B AVIR
H 1.00 3, 595. 00 3,595(2.00H / 8H
REM FRP D 70PS#E! 3.0t
H 1.00 82,119.00 82,119|8H
I ERET
A 1.00 52, 300. 00 52, 300
B RETE
A 1.00 41, 100. 00 41,100
HEHF
A 2.00 34, 900. 00 69, 800
HHH &%
% 1.00 248, 914. 00 2,489
& H YEZERESD : 6. 90t & 36, 435. 00 251, 403
EBE 4
& 12KkQ (—RIEE+4FBEER) 1E5Y (4 685)
2 7 1B - IR B ¥ = 1 i i % =
XBE 5S4 RN A
H 1.00 3, 595. 00 3,595(2.00H / 8H
REM FRP D 70PS#! 3.0t
H 1.00 82,119.00 82,119|8H
BB AR
A 1.00 52, 300. 00 52, 300
HE RS
A 1.00 41, 100. 00 41,100
REDF
A 2.00 34, 900. 00 69, 800
HHH SED%
% 1.00 248, 914. 00 2,489
=) 5 1E¥8EH - 4. 60t 54, 652. 00 251, 403




R &I/ \vr—2

MEEKEFRE

ES .5
L5 . RELERR IEED
£ b3 B - BIKTE =-Fiv] = fili ] W E w =
I E H A
A 4.50 41,100. 00 184, 950
RBEE 54 kN2 2L
H 4.50 6, 862. 00 30,879/6.00H / 8H
& B 1EZRERN  1.00K 215, 829. 00 215, 829
S .6
¥ SRR IEED
% b R - KT BT 2 i 2 W E H %
SHTEER
= 1.00 566, 610. 00 566, 610
& it 1E%8ERH : 1.00=C 566, 610. 00 566, 610
Es:1
B MESER IEED
% b R - KT BT 2 i 2 W E H %
FEHAR (F%E)
A 0.60 66, 900. 00 40, 140
HER (B)
A 0.80 48, 500. 00 38, 800
Hit &
A 1.00 36, 100. 00 36, 100
HER (C)
A 0.50 40, 300. 00 20,150
EXARE FHEEDY
% 1.00 135,190.00 1, 351
& it 1E%8ESN : 1.00=C 136, 541.00 136, 541




RER-FET/\vr— BEBKEERE
&5 :8
2% BERE 12 Y
2 7 1B - R By B 1 i ES % =
BERE BERE
Hhm 1.00 39, 500. 00 39, 500
& H YEZEREDN - 1.00th = 39, 500. 00 39, 500
2=
W BEABSHRLYELD EEL)
2 7 1B - IR B B 1 i £ % =
BE (A)
A 1.50 59, 600. 00 89, 400
e (B)
A 1.50 48, 500. 00 72, 750
EBRARE BHEEDY
% 1.00 162, 150. 00 1, 621
=) it YEZEREN  1.00=K 163, 771. 00 163, 771
&S :10
2% BETHE 1[4 Y
2 7 1B - IR B B 1 i £ % =
AR AR
A 1.00 60, 600. 00 60, 600
RIETRED
A 0.50 52, 300. 00 26, 150
RERER
A 0.50 41, 100. 00 20, 550
=) it 1E¥8E : 1.00[E 107, 300. 00 107, 300




RER-FET/\vr— BEBKEERE
&5 1
2 BRBRE 1[E 4 Y
2 m 1B - R By B 1 58 % =
BRI
A 0.50 60, 600. 00 30, 300
I ERET
A 0.50 52, 300. 00 26, 150
B RETE
A 0.50 41, 100. 00 20, 550
& it YEZERES ;- 1.00[E 717, 000. 00 717,000
&S 12
2% XBHES EEL)
2 7 1B - IR B B 1 i % =
EBRERE
= 1.00 19, 000. 00 19, 000
=) it YEZEREN  1.00=K 19, 000. 00 19, 000
513
L% WIEERE EE L)
2 7 1B - IR B B 1 i % =
mIEERE
=® 1.00 48, 300. 00 48, 300
=) 5 YEZEREN : 1.00 48, 300. 00 48, 300




MFEKEERE

No. it - AR B B GH) | fffiNo. N EEL AR - Ttk T i
S4FRY 2L RKD (—BAEOH)
H 3,595 2.00H / 8H
TEKD CWAREERAR
4 fz:?k@ (—ROREEERNE
2 FRP D 70PSZ! 3.0t 2 ﬁéﬂ(@ (—RRIEBEDH)
B 82,119 8H
IFEAD (—REEEEEAR
B)
TR (— AR EEERA
B)
S4FRY 2L JEEEE
B 6,862 6.00H / 8H




==Xl RS KESRE
BERES : 1
BliRAH  XBE S54 kY 2 1AL 2.00H / 8H
% b I - WAKTE B =1 B i ) i 5 &
AV
L 7.00 163. 00 1,141
BHE (S MNV[AVIDIUDY - i [ REEASE HRE2.0L
EREn]) il 2.00 287.00 574 B IR RERY
BHE (S MNV[AVIDIUDY - i [ REEASE HRE2.0L
EREn]) A 1.19 1, 580. 00 1,880 #“Ae
& &t 3,595
HElXRES : 2
Bl&RA% : SHEM FRP D 7OPSE! 3.0t 1BLY 8H
4 b & - WIRTE Bf1 = B i ) 5 s &
FilA
L 44.00 117. 00 5,148
]
A 1.20 31, 900. 00 38, 280| 8=1.20
B8 (@M IFRPE]) D 70PSE 3.0GT
A 1.00 3,210.00 3,210 EiER
B8 (@M IFRPE]) D 70PSE 3.0GT
A 1.65 3, 360. 00 5,544| a=1. 65 #“ER
HiGEEE
% 26.15 52, 182. 00 13, 645
—REEE
% 24.75 65, 827. 00 16, 292
& & 82,119
HlxRES :3
BliRAF : BE 54 kv 2 1TA%Y 6.00H / 8H
% b R - WAIRTE B = B i 25 biEi] " &
AV
L 20. 00 163. 00 3, 260
B (S MNVIAVIYUIUDY - ZiR (REEBNE HRE2.0L
EREf]) B RS 6.00 287.00 1,722 EERRERT
BHE (A4 N U[AVIIUDY - Ty |REEAE HERE2. 0L
EREh]) A 1.19 1, 580. 00 1,880 #HAe

a &

6, 862




